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DIPLOMA IN SECURITY MANAGEMENT 

Term-End Examination 
0-) 

June, 2012 

BSEI-011 : MANAGERIAL SKILLS 

Time : 3 hours 	 Maximum Marks : 100 

Note : (i) Question-1 is compulsory in Part A, Part B and 
Part C. 

(ii) In Question-2 Attempt any 7 out of 10 questions 
and in Question-3 Attempt any 3 out of 5 questions. 

PART-A 

1. 	Fill in the blanks : 	 12x1=12 

(a) The theft can be categorized broadly under 

two heads, 	 thefts and internal 

theft. 

(b) 	yard must have proper locking 

arrangements and key should be with store 

manager. 

(c) Plant and Machinery should not be left 

(d) Decision is a choice made from available 
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(e) 	  leadership style gives all 

authority and control to the group. 

(f) The term 'Management' is generally referred 

to the business and 	 units. 

(g) A right man should be selected for the right 

(h) Leadership may be formal or 	 

(i) Motivation is drived from 	 

(j) customers are the customers 
who listen to you. 

(k) 	 is an art of getting the work 

done by the people and thereby achieving 

the best results. 

(1) 	Frostbite is the 	 of body tissue. 
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PART-B 

1. TRUE OR FALSE 	 12x1=12 

Tick (✓) or ( x ) True/False on the following. 

(a) The most important person in any business 

is a customer. 	 ( 	) 
(b) In case of bleeding make efforts is stop 

bleeding. 	 ( 	) 

(c) A visitor should be allowed an access to 

shop floors/machine shop etc., if he so 

desires. 
	

( 	) 

(d) Purchase is normally carried out by security 

department. 

(e) Demanding customer is the customer who 

wants more than you can offer. ( 

(f) Welfare includes health and safety 

programme: 	 ) 

(g) Positive motivation aims at controlling the 

work place with the fear of punishment. 

) 

(h) Exposure, sometimes called "hypothermia," 

is a normal hazard of temperature 

wilderness. 	 ) 

(i) Unloading of material will be done outside 

the main gate. 	 ) 

(j) ABC stands for altitude, bleeding and 

cardiology. 	 ) 

BSEI-011 	 3 	 P.T.O. 



Routine Decisions are repetitive in nature, 

require little deliberations and are generally 

concerned with short term. 	( 	) 
Situation theory advocates the leadership is 
effected by its given situation. 	( 	) 
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PART-C 

1. 	Choose the correct answer : 	 4x1=4 

(a) 	Normal blood pressure is about : 

(i)  120/80 

(ii)  160/40 

(iii)  160/80 

(iv)  120/40 

(b) An adult breaths about 	times 

per minute : 

(i)  20-22 

(ii)  15 - 20 

(iii)  20 - 24 

(iv)  15 - 22 

(c) The air which we exhale still contains 

	oxygen in addition to carbon- 

dioxide. 

(i)  15% 

(ii)  17% 

(iii)  16% 

(iv)  18% 

(d) 	Normal body temperature is : 

(i)  98.3° F 

(ii)  98.9° F 

(iii)  97.9° F 

(iv)  98.6° F 

BSEI-011 	 5 	 P.T.O. 



2. 	Attempt any seven questions out of ten : 	7x6=42 
(a) Write a short note on Security and Custody 

of keys. 
(b) Write short note on Industrial Espionage. 
(c) Define "Contract-Labours Register". What 

different fields does it have ? Name them. 
(d) What are the Guidelines for handling Secret 

Documents ? 
(e) Write short note on System for Casual 

Employees. 
(f) Write a short note on Internal movement of 

material. 
(g) Make a specimen of Visitor's Pass. 
(h) How should you carry out Recruitment in 

an organization ? Explain briefly. 
(i) Write a short note on Group Think. 
(j) Write a short note on Programmed 

Decisions. 

3. 	Attempt any three questions : 	 3x10=30 ' 
(a) Explain with a diagram, the Maslow's 

Hierarchy of Needs Theory. 
(b) What are the advantages and disadvantages 

of GDM ? Enumerate. 
(c) What is the full form of ABC ? Explain each 

of them ? Also, explain CPR, How will you 
administer CPR ? 

(d) What is Letter Bomb ? Explain the meaning 
of Explosive and Parcel. 

(e) What are the duties of Security Officer ? 
Write any ten points his duty. 

BSEI-011 	 6 



1.41717.1.3Trf-on  

WaTT 174ER "4 rStti 

/TIM tTNIT 

, 2012 

*71:L13TO-on : 114grff 

qiiq :3 ../u2 	 37fi T 3fw : loo 

V?"F : 	W Stql 1. 	Ti9.77 2/77 (a1T7T w, 	91777.  
g, 

stql 2. 10 	ch4r  7 WI 
Siql 3. rik T74 i;t7-67*7 TrkT7 

1. frwr Term W : 
12x1=12 

(a) 	t1 	cw 	i41-1 TUT A1c11 t 	 

.MTT aTTFTW 	I 

(b) 01 411 	drcld vw-n 

Mrf -q-rr--44 tilt4-4-A7* trru 
-q-rf-01 

(c) 1:71191   9- ?l 	111 

rr--641 

(d) *1:1MT 	1-1(1-q t F■114 34c1sIti 	 

G1114.11/ (leg ■111c11 t1 

BSEI-011 	 7 	 P.T.O. 



	 -gew 	M1stk14 t 

3TRTWR 72TF    t I 

aTFAT -Ert .410R-114 -ff211 	 

ti~iri chtlf t I 

) t41 044 cid TT TqT4 

f-*--zrr Asir rr-T4 

M1so1y 1rFT 711 	 

-4.-{urr  	NAM t 

1A-r-6w t-R 	3Trcrk gRI 

ch14-1 	 .) chol t 

72TF fqqk 	-ET5 Trivrs -9-rcff  elf i 

(1) 	t 	 ,3-1 4-11f 

(f9t-47)t1  

BSEI-011 	 8 



slITT-11 

1. 	Fre71T 71RF 	el-Mak-kr (x)   : 12x1=12 

(a) .crW ceicMIef Tr-ot aTfirw -1T-6-ffOF ogrctcr -crw 
aria, tart' 	 ( 	) 

(b) zfr4 	4-4* TgT t 	314 iict)4 	3-411:1 WI I 

( 	) 
(c) 31179W 	•qtrtIF/1-iki -I 7ifq 	kqr 

Trk agt:IT mmilt1 	 ) 
(d) INTIqr# am:* ITT ftiaARell farm TT! T1- 	 

WI 	 ( 	) 

(e) 414 aryl 4,1Wh tktql 3117 gRT 9t-ctiricf z6T 
tiara 	aTfirw 	 ti 	 ) 

(f) ao 	4qt 7zrrPrzr Ttri.  Tim aTizilwi 

tt 	 ( 	) 
(g) 'd 	slturr cni -T-trF 	fig. :fur trT -kku td1 t 

TT 	1T-4 rlar t I 	( 	) 
(h) ukcior 	"mtzni-T-A-r" er,1 Al ► r t 

-qw 	Trftrim citios(ki t r ( 	) 

(i) 3iTart7i iltSO4 -4Z* MI6< iwrzlt 

( 	) 

(1) 	7.m.. (ABC) 	3T4 

chirgtiiri),Tit t I 	 ( 	) 

BSEI-011 	 9 	 P.T.O. 



(k)  	t 

fir cf-A ch1 mar 	t air 

3-Trird17 -cr-{.wq31-aff --4tAti 	) 

fff-A-cr-{Ti 27ft 31--grrT 0'1844 

fus7F 	 t 	( ) 

BSEI-011 	 10 
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(i) 15% 	(ii) 17% 
(iii) 16% 	(iv) 18% 
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(iii) 97.9°  F 	(iv) 98.6°  F 
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